~ (B) Hawaii
(C) California
(D) Fiorida

What is the term used for a deliberate
downward adjustment to the value of «

a country's currency, relative
another currency, group of currenc

or standard?

(A) Devaluation \%/
(B) Withdrawal Q‘
(C) Demonetisatio %

(D) Destabilisatioé

Which of the

connected By Mont Blanc tunnel?
(A) Indig=ahd China

(B) Italyvand Germany

(C) France and Italy

(D) None of these

3'2; The French Revolutron resulted in the

®) 1776

. to b& a Very mlneral—rlch
ory. Which territory are we talking

ﬁ%wing countries are

e 14

(B) 1779
(C) 1792
(D) 1789 0

specific ag ~Which of these UN
organizatiens deals with human rights

relatedNissues?
(A) co
NDP

«% UNICEF

(D) UNHRC

These sarees from Patan, Gujarat, are
made using fine silk yarns. They are
traditionally woven by the salvi community,
and involve a complex form of weaving.
What is the name of these sarees?

(A) Jamdani

(B) Kanjeevaram
(C) Patola

(D) Pochampally

In 2015 UK celebrated 800 years of the
signing of the Magna Carta. This historic
document took away the absolute powers
of the king and gave more powers to the
Barons. Who was the English king who
signed it?

(A) Richard |

(B) John L
(C) Henry ViiI = a
(D) Edward 1 S







v Mark Antony took their lives in 30 B.C.

16 Due to the outbreak of whleh virw%

15. She was the last active pharaoh of
- Ptolemaic Egypt. She and her husband

after Octavian's forces defeated them
in the Battle of Actium. Who was she?

' &d the given statements and select
% he correct option.

“‘"Wi B (l lf.‘ lull

the World Health Organigatior

declare a Public Healt ""_ganey of

International Concern "=e¥ruary 20167

This virus is tre proyh ted through the
d was first identified

Aedes mosquitg s

in Uganda.

(A) HIV
ikungunya

Statement - 1 : Unlike Money Bill,

Financial Bill of category A can be

introduced in either House of Parliament.

Statement - 2 : Recommendation

of President is not required before

introducing this bill.

(A) Statement 1 is correct but statement 2
is incorrect.

(B) Statement 1 is incorrect but
statement 2 is correct.

(C) Both statements 1 and 2 are correct.

(D) Both statements 1 and 2 are
incorrect.

- 18. PacificAlliance is a trade bloc, with some

features of further integration. It currently
has four member states. Which of the

following is not a member of Pacific i
Alliance?

(A) Chile
(B) Peru
(C) Colombia
(D) Brazil.




